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PREFACE

GREETINGS!!

GYANKOSH: A QUIZ BOOKLET is the collection of multiple-choice questions based
on questions asked in various competitive examinations. Total 15 test series are
prepared for the aspirants of several examinations such as UPSC, State Civil
services, Banking exams, Staff selection Commission exams, Railway exams, MBA
entrance test and many more. Each test consists of questions related to general
knowledge, numerical ability, and current affairs. The best part is, the answers of all
the tests and the hints and solutions of a few questions are also mentioned at the end
of every test.

| would like to offer my gratitude to Madam Principal Dr. Archana Patki for the
insightful idea of publication of the Quiz Booklet. Her incessant motivation
encouraged me to fulfil the task successfully. | would like to thank my Third-Year
student Ms. Preeti Jaiswal for helping in compiling the relevant questions. | offer my
gratitude towards Competitive magazines- Competition Success Review, Pratiyogita
Darpan and Manorama Year Book for enriching me with relevant topics and questions
with solutions. Last but not the least, sincere thanks to all my students who have
always been a source of inspiration for me.

This booklet is an outcome of my passion for quizzes, curiosity of students and
motivational guidance of Madam Dr. Archana Patki, our beloved Principal.
Hope this booklet will be informative and fulfilling for the readers.

Mumbai, June 2023 Dr. Jyotsana Lal
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TEST 1

1. The World Economic Outlook Report is published by which of the
following organizations?

. World Bank

Asian Development Bank
World Economic Forum

. International Monetary Fund

OO W >
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What is the child sex ratio of India as per the 2011 Census?

. 959
919
927
. 976

OO W >

. The Mahanadi is a major river in East Central India that has its origins in:

A. Odisha

B. Chhattisgarh

C. Madhya Pradesh
D. Telangana

The Global Multidimensional Poverty Index is published by which of the
following agencies /organizations?

A. World Bank

B. European union

C. Amnesty International

D. United Nations Development Programme

5. The difference between Exports and Imports is known as
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A. Balance of Trade
B. Depreciation

C. Recession

D. Fiscal deficit

6. What will come in the place of question mark (?) In the given number series:
8,9, 17, 26, 90?

A. 121
B. 109
C. 115
D. 125
7. 15,21, 32, 48, 69?

A. 85
B. 103
C. 100
D. 95

8. The festival of Is also known as Faguwa?

A. Ganesh Chaturthi
B. Holi

C. Diwali

D. Sankranti

9. The Vedic civilization flourished on the banks of river

A. Yamuna
B. Sindhu
C. Saraswati
D. Ganga

10. When did Prime Minister Narendra Modi launch BHIM app?

A. 31 August, 2016
B. 15 August, 2016
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C. 26 January, 2016
D. 30 December, 2016

11. Who is the CEO of Open Al, the company behind ChatGPT?
A. Sam Altman
B. Elon Musk
C. Mark Zukerberg
D. Bill Gates

TEST 1 Answer:
1.D2.B 3.B 4.D 5. A 6.C hint; 12,23 32 43, ...

7. D hint: difference between given numbers: 6, 11, 16, 21, 26....again difference
between these numbersis5. 8.B 9.C 10.D 11. A
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TEST 2
1. For which book did Arundhati Roy win the Booker Prize in 1997?

History of Valves

The God of Small Things

Two States

The Ministry of Utmost Happiness

Cow>

2. Is fondly known as '‘Ba?

Indira Gandbhi
Kasturba Gandhi
Vijayalakshmi Pandit
Sarojini Naidu

OO w>»

e

The Hindi film 'Kai Po Che' is based on which book of the books of Chetan
Bhagat?

Two States

Three Mistakes of My Life
Five Point Someone

One Night at the Call Center

OO0 w>»

4. Gir National Park is famous for:

A. Cherry Blossom

B. Orangutan
C. Red silk cotton
D. Asiantic Lion

5. Which state is the first state to adopt the Panchayati Raj system?

A. West Bengal

B. Andhra Pradesh
C. Tamil Nadu

D. Rajasthan
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6. The 11th President of India, is also known as 'Missile Man'.

A. Zakir Hussain

B. K.R. Narayan

C. Fakhruddin Ali Ahmed
D. A.P.J. Abdul Kalam

7. Who among the following was not among the 'Navaratnas' at the court of

Vikramaditya?
A. Kalidasa

B. Chandragupta
C. Tulsidas

D. Chanakya

. Which of the following Cartoonist is best known for his creation of common

man?

A. Shekhar Gurera
B. Sudhir Tailang
C. Kutty

D. R.K. Laxman

. Which was the first Indian Satellite named after Indian Mathematician

launched in 1975 by the Soviet Union?

A. INSAT 1A

B. Bhaskara Sega - 1
C. RohiniRS-D 1
D. Aryabhata

10. In which year did the Khilafat Movement start in India?

A. 1925
B. 1930
C. 1920
D. 1940
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11. A bag contains 4 red balls, 5 green balls, and 6 blue balls. If a ball is drawn
at random, what is the probability of it being either red or green?
A. 3/5
B. 5/10
C. 4/8
D. None of these

TEST 2 Answer:
1.B2.B 3.B 4D5.D6.D7.A8.D 9.D 10.C

11. A Sol: Total balls in the bag = 4 (red) + 5 (green) + 6 (blue) = 15 balls
Number of favorable outcomes (red or green balls) = 4 (red) + 5 (green) = 9 balls
Probability = Number of favorable outcomes / Total outcomes

Probability =9/15=3/5
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TEST 3

. The Gateway of India is located in:

A. Kolkata
B. Delhi

C. Mumbai
D. Bengaluru

The Bhoodan movement was initiated by:

A. Meneka Gandhi
B. Medha Patkar
C. Vinoba Bhave
D. Baba Amte

Which dam is built on the Narmada River?

A. Adhia Dam

B. Hirakud Dam

C. Sardar Sarovar Dam
D. Tehri Dam

In which colour is a solar cooker painted from the outside?

A. Green
B. Blue
C. Black
D. Red

The book 'Wings of Fire' is authored by:

A. Salman Rushdie

B. A.P.J. Abdul Kalam
C. R.K Narayan

D. Vikram Seth
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6. Who won the gold medal at Women's National Boxing Championship in
20197

A. Ragini Upadhyay
B. Nikhat Zareen

C. Manju Rani

D. Pindi Rani Jangra

7. What is the arithmetic mean of first 8 multiples of 13?
A.554
B. 58.5
C. 725
D. 61.8

8. The ratio between two numbers is 7:16. if the second number is 256 the first
number is:

A. 120
B. 156
C. 112
D. 144

9. 40f8+8x1800f1="
7 9 7 9

80
10. What is the rank of India in Word Happiness Index 2023?
A. 120
B. 121
C. 125
D. 126
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11.Find the value of x in the equation: 2(x - 4) = 16
A. 10
B. 12
C. 16
D. 18

TEST 3 Answer:

1.C 2C 3.C 4C 5B 6.C 7.B

8. C 9. C 10. D hint: Finland, Denmark, Iceland are top 3 countries
11.B
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TEST 4

1. The first Defence Minister of Independent India was

A. Kailash Natu Katju

B. VK Krishna Menon

C. Baldev Singh Chokkar
D. Yashwantro Chavan

2. The island which has Sardar Vallabhbhai Patel's 'Statue of Unity" is located in
which river?

A. Narmada
B. Sabarmati
C. Tapi
D. Mahi

3. Which of the following is the state bird of Uttar Pradesh?

A. Parrot
B. Eagle
C. Kingfisher
D. Crane

4. Find 40% of 120% of 85% of 800.

A. 288
B. 326.4

C. 360
D. 400

5. Three partners, A, B and C shared profits in the ratio 4:5:6. If C's share of the
profit was Rs. 200 more than that of A, find the total profit generated by them.
A. 1500
B. 1600
C. 1650
D. 1750
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6. Who administers the oath of office to President of India?

A. Lok Sabha Speaker
B. Vice President

C. Chief Justice of India
D. Prime Minister

7. The capital of Cambodia is?
A. Canbara

B. Santiago

C. Phnom Penh

D. Prague

8. Who is the chairman of 15" (2021-26) Finance Commission?

A. Shri C. Rangarajan
B. Shri N.K. Singh
C. Dr. Y.V. Reddy
D. Dr. Vijay L. Kelkar

9. The capital of Sikkim is?

A. Bhopal
B. Gangtok
C. Imphal
D. Kavaratti

10. Who has authored the book, titled 'Ace against Odds'?

A. Sunil Rao

B. Sania Mirza

C. Nirupama Sanjeev
D. Rashmi Chakravarty
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TEST 5
1. Who is the First Citizen of India?

A. Chief Justice of India
B. President of India
C. Prime Minister of India
D. Chief of Indian Army
2.When did the Indian constitution come into force?

A. 1 January, 1950

B. 26 January, 1950
C. 26 November, 1949
D. 26 January, 1949

3. The full form of 'SLR' is:

A. Statutory Limited Ratio
B.Standard Liquidity Ratio
C. Statutory Liquidity Ratio
D.Security Liquidity Ratio

4. The Indian Constitution provides :

Single citizenship
Both

Dual citizenship
None of these

OO w>»

5.Who had discovered the Neutron?

E.O. Lawrence
Niels Bohr
James Chadwick
S.N. Bose

OO w2

15

Np 0P Ie Np hp Ne hp N N I Rp I Np dp Np hp Xp Rp R Rp X Rp Xp Np 0 Rp Rp Xp Xp R Ne X NP de Np Rp Xp Rp R Re X NP de NP e Np Rp R Xp X Np X Rp e Np X Np X Np X 0e e Rp X
Do hp B Np hp N g N hp N hp B hp 0 Np dp N Rp R Rp R Rp hp N 0 N 0P N Rp R Re 2 N 2 N e R Rp R Rp b Rp 2 N 0 N hp R Rp 2 Rp hp N 0 Np b Np X 0p X hp X hp N

ARASASASAGASARABASARASADASASARADASARASADADRABARAGARABAGARABASASABASARARADADASADASARA A



PARAGASASASARADASASARADADADAGARADADASARADADADADAGADADADADADAGADADAGARADASADADASADADASDADAS A

o Np NP N hp N b hp N g Np R hp N 2 Np R dp Np X Rp N X Rp N g N X Rp N X R R 0 N X Rp N X R R R X Rp N X R N 2 N X Rp N X R 0p N 0 Rp N X 0 0

6. A shopkeeper sells a product for a Rs. 532 and earns a profit of 12.5%. Find
the amount that is equal to half of the cost price of product.

A. Rs. 196
B. Rs. 284
C. Rs. 236
D. Rs. 250

7.The ratio of present ages of father and the son is 7:3. After 8 years, the age of
father will be twice that of son. What is the present age (In years) of the son?

8. Ecosystem consists of:

A. Population

B. Biotic community and its non-living elements
C. population and its non-living elements

D. A biotic community

9. Which company took over Ford’s passenger manufacturing plant at Sanad in
Gujarat?

A. Ola

B. Tata Motors

C. Mahindra

D. Hyundai

10. Frontier, the world’s fastest supercomputer, is developed in which
country?

A. China

B. Japan

C. USA

D. Russia
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11. The simple interest on a certain sum of money for 2 years at 6% per annum
Is Rs. 720. What will be the compound interest on the same sum for 2 years at
10% per annum, compounded annually?

A. Rs. 6000

B. Rs. 1200

C. Rs. 1260

D. Rs. 1500

TEST 5 Answer:

1.B 2.B3.C 4.B5.C6.C7.Chint: 7x+8=2(3x+8) 8.B9.B 10.C
11. C Sol: Simple interest formula is: Simple Interest = (Principal x Rate x Time) / 100.
Using the formula, we can calculate the Principal:

720 = (Principal x 6 x 2) / 100

Principal = (720 x 100) / (6 x 2) = Rs. 6,000

Now, to calculate the compound interest:

Compound Interest = Principal x [(1 + Rate/100)"(Time)] - Principal
= 6000 x [(1 + 10/100)"2] - 6000

= 6000 x (1.1)"2 - 6000

= 6000 x 1.21 - 6000

=Rs. 1,260
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TEST 6

1. Which Commission was appointed by the central government to examine
issues related to Centre State relations?

Mandal Commission
Sarkaria Commission
Nanavati Commission

. Kothari Commission

Which muscles in the skin contract to make the hairs on our skin stand up
straight (goosebumps) when we are cold or frightened?

. Elastin

Epidermis
Collagen

. Arrector Pilli

Which of the following is the outer layer of the Earth that is made of plates
which fit together like a jigsaw puzzle?

. Lithosphere

Biosphere
Mesosphere

. Asthenosphere

‘A Century is Not Enough' is an autobiography of—

. Sachin Tendulkar

Rahul Dravid
Sourabh Gangully

. Anil Kumble

Which of the following Indian Cities is included in the list of 'UNESCO
World Heritage Sites'?

. Ahmedabad

Hyderabad
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Murshidabad

. Srinagar

Which mineral 1s popularly known as 'buried sunshine’?

. Iron

Bauxite
Mica
Coal

What is the primary function of the eccrine glands?

. To produce sweat

To produce colour of the skin
To produce body hair

. To produce growth hormones

Which company recently announced to launch ‘AMBER alerts’ to find
missing children?

. Microsoft

Google
Meta

. Apple

What is the name of the application launched by the AYUSH Ministry as
a part of the launch of clinical research on Ayurveda interventions?

. AYUSH Raksha

AYUSH Sanjivani
AYUSH Suraksha
AYUSH Shakti

10. What is the name of the tree planting campaign recently launched by

Union Cultural Ministry?

A. One person one tree
B. Sankalp Parva

C. Green Nation Mission
D. Samriddhi Parva
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11.A shopkeeper bought an article for Rs. 6,000 and sold it at a loss of 10%.
What is the selling price of the article?
A. 5400
B. 5000
C. 6400
D. None of these

TEST 6 Answer:

1. B2D 3A 4C5 A 6.D7A8C9B10B11. A
Sol: Loss amount = (Loss percentage / 100) x Cost price
= (10/100) x 6000 = Rs. 600
Selling price = Cost price - Loss amount
= 6000 - 600 = Rs. 5,400
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TEST 7

. Edwin Lutyens and Herbert Baker are two architects credited to have
designed the city of

A. Allahabad ( Prayagraj )
B. Chandigarh

C. Raipur

D. New Delhi

. 'Ali- Ai- Ligang', a spring festival, is associated with which state?

A. Kerala
B. Odisha
C. Assam
D. Bihar

. Which substance covers the root of the tooth?

A. Cementum
B. Pulp

C. Dentin

D. Enamel

. What kind of relationship exists between income and demand in case of
normal goods?

A. There is no impact of income on demand

B. There is no relation between income and demand
C. There is a direct relationship

D. There is an inverse relationship

. In which year did King George V assume the crown of India?

A. 1917
B. 1906
C. 1923
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D. 1911

. The narrow zone of contact between the lithosphere, hydrosphere and
atmosphere where natural vegetation and wildlife exist is called the—

A. Exosphere
B. Geosphere
C. Biosphere
D. Troposphere

. How many tiers are there in the Panchayat Raj structure?

A. Three
B. Four
C. Five
D. Two

. Which chemical law proposes that 'soft drinks and soda bottles are sealed
under high pressure to increase the solubility of CO;' ?

A. Raoult's law
B. Henry's law
C. Ohm’s law

D. Dalton's law

. The breaking up and decay of exposed rocks by temperature changes, frost
action, plants, animals and human activity is called—

A. Weathering
B. Smelting

C. Deforestation
D. Erosion
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10.Who became the first female to be appointed to the ICC International
Panel of Match Referees in 2019?

A. GS Lakshmi
B. Diana Edulji
C. Jhulan Goswami
D. Sudha Shah

11.The ratio of the present ages of Ram and Shyam is 5:8. If the sum of their
ages is 78 years, what is Shyam's present age?
A. 48 years
B. 50 years
C. 45 years
D. 55 years

TEST 7 Answer:

1D2.C3.A4C 5D6.C7.A8.B9.A10.A11. A

Sol: Let the ages of Ram and Shyam be 5x and 8x, respectively.
According to the problem, 5x + 8x =78

13x =78

X=6

Shyam's present age = 8x = 8 x 6 = 48 years
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TEST 8

. Which river has tributaries by the name of Dri, Mathun, Talon, Eme, Ahi,
Emra and Awa?

A. Dibang
B. Godavari
C. Kaveri
D. Lohit

. Which of the following metals in pure form has the highest melting point?

A. Tungsten
B. Copper
C. Platinum
D. Gold

. Leshalaptu's is a folk dance of which Indian state?

A. Kerala

B. Nagaland
C. Goa

D. Karnataka

. Which explorer discovered a sea route to India in 14987

A. Thomas Coryat
B. Megasthenes
C. Marco Polo

D. Vasco da Gama

. The physics phenomenon when, in polar regions like Alaska and Northern
Canada, a splendid display of colours is seen in the sky is called a /

A. Aurora borealis
B. Star shower
C. Active galactic nucleus
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D. Star's intrinsic luminosity

6. In which of the following states is 'Me- Dam- Me- Phi' the festival of
ancestor worship celebrated?

A. Odisha

B. Chhattisgarh

C. Madhya Pradesh
D. Assam

7. Who is the author of the book "The Free Voice : On Democracy, Culture
and the Nation' ?

A. Ravish Kumar
B. Arnav Goswami
C. Barkha Dutt

D. Rahul Kanwal

8. What is India's ranking in the Global Economic Freedom Index 2022?

A. 105
B. 109
C. 140
D. 121

9. As per the Constitution of India, the subject of 'live-stock and animal
husbandry' is included in the—
A. Residuary List
B. State List
C. Union List
D. Concurrent List

10.Abnhijit Vinayak Banerjee was awarded the 2019 Nobel memorial Prize
in—

A. Chemistry
B. Physics
C. Literature
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D. Economics

11.A train covers 360 km in 4 hours. What is its speed in meters per second?
A. 30 m/sec
B. 25 m/sec
C. 40 m/sec
D. 45 m/sec

TEST 8 Answer:

1. A Hint: Tibet & China 2. A Hint 3422°C 3.B 4.D 5.A6.D7.A8.D

Hint: Published by The Heritage Foundation, Washington 9. B 10. D 11. B Sol:
Speed = Distance / Time, Speed =90 x 1000 m / 3600 s (conversion of hours to seconds)
Speed = 25 m/s

26

Np 0P Ie Np hp Ne hp N N I Rp I Np dp Np hp Xp Rp R Rp X Rp Xp Np 0 Rp Rp Xp Xp R Ne X NP de Np Rp Xp Rp R Re X NP de NP e Np Rp R Xp X Np X Rp e Np X Np X Np X 0e e Rp X
Do hp B Np hp N g N hp N hp B hp 0 Np dp N Rp R Rp R Rp hp N 0 N 0P N Rp R Re 2 N 2 N e R Rp R Rp b Rp 2 N 0 N hp R Rp 2 Rp hp N 0 Np b Np X 0p X hp X hp N

ARASASASAGASARABASARASADASASARADASARASADADRABARAGARABAGARABASASABASARARADADASADASARA A



PARAGASASASARADASASARADADADAGARADADASARADADADADAGADADADADADAGADADAGARADASADADASADADASDADAS A

TEST 9

1. The National Police Academy is located at:

A.Dehradun
B.Abu road
C.Hyderabad
D.Bengaluru

2. In mountainous areas a natural cause for roadblocks is often:

A.Traffic congestion
B.Landslides

C.Tree falling

D.Road repairs and construction

3. The mercury and sodium street lamps light up because of:

A.Electron emission.
B. Atomic emission.
C.Electron absorption.
D.Atomic absorption.

4. Who among the following became a member of the "din-i-ilahi"?

A.Tansen.

B.Raja Birbal.
C.Todarmal.
D.Raja man Singh.

5. Headquarters of European Union (EU) is situated in:

A.Milan ( Italy)
B.Brussels (Belgium)
C.Munich
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D.Paris ( France)

6. What according to communism is the chief enemy of the society?

A.Capitalist class
B.Religion
C.Surplus value
D.Private property

. Which economist developed international trade theory in 1817 based on

comparative advantage and specialisation?

A. Paul Krugman
B. Gary Becker

C. Milton Friedman
D. David Ricardo

. As of October 2022, how many nuclear power plants are present in India?

1
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. Arundhati Roy won Booker prize in 1997 for which of her novels?

A. The God of Small Things
B. The White Tiger

C. Midnight’s Children

D. The heritance of Loss

10. The length of a rectangular field is twice its breadth. If the perimeter of

the field is 240 meters, what is its area?
A. 3200
B. 1200
C. 3500
D. 1050
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11.A bag contains 5 red balls, 4 green balls, and 3 blue balls. If one ball is
drawn at random, what is the probability of getting a green ball?
A. 1/5
B. 1/3
C. 5/10
D. 1/2

TEST 9 Answer:

1. C Hint Sardar Vallavbahi Patel National Police Academy 2. B3. A4.B

5.B6.A 7.D 8.B 9. A 10. A Sol: The perimeter of a rectangle is given by the formula:
Perimeter = 2 x (Length + Breadth).

2 x (2x +x) = 240

X =40

So, the breadth of the rectangular field is 40 meters, and the length is 2x = 2 x 40 = 80 meters.
To find the area of a rectangle, we use the formula: Area = Length x Breadth.

Area = 80 x 40 = 3200 square meters. 11. B Sol: Total number of balls in the bag =5 +
4+3=12

Number of favorable outcomes (green balls) = 4

Probability = Number of favorable outcomes / Total number of outcomes

Probability =4/12=1/3
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TEST 10

1. When income increases, consumption also increases:

A.In a higher proportion
B. In the same proportion
C.In a lower proportion
D.None of the options

2. Movement of people from a village to a small town and later to a city is
known as:

A.Inter-state migration
B.Forced migration

C. Intra-state migration
D.Step-wise migration

3. Which state receives rainfall from South West monsoon?
A. Assam
B. Tamil Nadu
C. Kerala
D. West Bengal

4. One of the regions that receives rainfall from the North-East monsoon is:
A. Assam
B. Kerala
C. Tamil Nadu
D. West Bengal

5. Rainbows are formed due to:

A.Refraction, reflection and dispersion of light by raindrops
B.Refection of light from rivers and ocean

C.Refraction and reflection of light by clouds

D.Only by refraction of light by raindrops
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6. " Wall Street” is the name of the:

A.Stock exchange of New York
B. Indian township in Washington
C.Super market in Mumbai
D.Stock exchange of Kolkata

7. Kautilya's “Arthashastra” mainly deals with

A.Political statecraft
B.Economic doctrines
C.Military aspects
D.Social aspects

8. Aflatoxins are produced by:
A. Viruses
B. Bacteria
C. Fungi
D. Algae

9. Which of the following countries has the longest overland tunnel?

A.Germany
B.France
C.Switzerland
D.Spain

10. Which one of the following is an indigenously built light combat aircraft of
India?

A.Akash
B.Arjun
C.Vikrant
D.Tejas
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11. A shopkeeper bought a product for Rs. 800 and sold it for Rs. 960. What is
the profit percentage?

A. 10%

B. 12%

C. 15%

D. 20%

TEST 10 Answer:

1. C 2. D 3. C 4. C 5. A hint: the water droplets act like small prisms. They
refract and disperse the incident sunlight, then reflect it internally and finally
refract it again when it comes out of the raindrop. 6. A 7. B 8. C 9. C hint: The

Gotthard Base Tunnel 10. D 11. D Sol: Profit percentage = (Profit / Cost price) x 100
Profit percentage = (160 / 800) x 100 = 20%
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TEST 11

1. From the national point of view which of the following indicates micro
approach?

A. Inflation in India

B. Per capita income in India
C. Educated unemployment
D. Study of sales of TISCO

2. The author of the book “Zest for life” 1s:

A. Emile Zola
B. Virginia wolf
C. H.G. wells
D. Mark twain

3. Addition of excessive amounts of heat to a lake is referred to as:

A. Thermal pollution
B. Greenhouse effect
C. Refrigeration effect
D. Heat bloom

4. B-Diversity is also known as:

A. Between habitat diversity
B. Ecosystem diversity

C. Within habitat diversity
D. Global diversity

5. Manu Bhaker is the name associated with which of the following games:

A. Shooting
B. Archery
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C. Weightlifting
D. Boxing

6. The soft silvery metallic element which ionizes easily when heated or exposed
to light and is present in atomic clock is:

A. Calcium

B. Cesium

C. Cerium

D. Californium

7. The green colour seen in firework is due to the chloride salt of:

A. Calcium
B. Sodium
C. Barium
D. Strontium

8. Which institution operates the ‘DRDO Industry Academia-Ramanujan Centre
of Excellence’?

A. IIT Madras

B. IIT Bombay
C. ISC Bangluru
D. IT Delhi

9. Shivamogga Airport was recently inaugurated in which state?

A. Tamil Nadu
B. Karnataka
C. Odisha
D. West Bengal
10.Who has been awarded the 2023 Marconi Prize?
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A. Hari Balakrishnan
B. Ranjan Gogoi

C. Raghuram Rajan
D. Mark Zukerberg

11.A train travels 300 km at an average speed of 60 km/h. How long does it take
to reach its destination?

A.5hrs

B. 6 hrs

C.7hrs

D. 8 hrs

TEST 11 Answer:

1.(D)2. (A)3.A4.B5 A 6.B7.C8. A9.B 10. A hint: Indian origin
computer scientist MIT Professor received for his fundamental discoveries wired
and wireless networking, mobile sensing, and distribution system. 11. A hint:
Time = Distance / Speed
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TEST 12

. How many planets are there in our solar system?

A. 6

B.7
C.8
D.9

. Who invented zero?

A. Bhaskara

B. Chanakya

C. Aryabhatta

D. None of above

. On which day our constitution of India was completed?

A. 26" January, 1950
B. 26" December 1949
C. 26 November 1949
D. 26" August 1949

. How many union territories are there in present India?

A7
B.8
C.9
D. 10

. Which year the first train steamed off in India?

A. 1850
B. 1852
C. 1853
D. 1857

. Who was the founder of Indian national congress?

A. Mahatma Gandhi
B. Bal Gangadhar Tilak
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C. Allan Octavian Hume
D. Motilal Nehru

7. Our galaxy ‘Milky way’ is also known as?
A. Bhramannd ganga
B. Aakash ganga
C. Swarrg ganga
D. Doodh ganga

8. Covid-19 is also known as

A.  HIV

B SARS

C. SARSV2
D SARS V3

9. COVID stands for
A. Corona Virus Disease
B.  China originated Virus in December
C.  China oriented virus Disease
D. Corona Viral Disease

10. Name the author of the book ‘We Indians’:
A. Nirad C Chaudhary
B. Mulk Raj Anand
C. RK Laxman
D. Khushwant Singh

11.The cost price of a shirt is Rs. 800. It is sold at a discount of 12%. What
Is the selling price?
A. 700
B. 650
C. 750
D. 704
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TEST 12 Answer:

1. C hint: Mercury, Venus, Earth, Mars, Jupiter, Saturn, Uranus and
Neptune 2. C 3. C 4. B hint: Ladakh, J & K, Delhi, Puducherry, Lakshadweep,
Chandigarh, Dadra Nagar Haveli & Daman Diu, Andaman and Nicobar Island.

5. C hint: 16" April 1853 6.C 7. B 8. C 9. A 10. D 11. D Sol: Discount = (12 / 100)
x Rs. 800 = Rs. 96

Selling price = Cost price - Discount

Selling price = Rs. 800 - Rs. 96 = Rs. 704
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TEST 13

1. The term LBW is associated with which sport:

A. Tennis
B. Badminton
C. Cricket
D. Hockey

2. Fish respire through:
A. Lungs
B. Heart
C. Nose
D. Gills

3. Din-i-ilahi was the name of a:

A. Mosque
B. College
C. Religion
D. Saint

4. Which state has the longest coastal line?

A. Gujarat
B. Kerala
C. Maharashtra
D. Tamil Nadu

5. The commonly known unit of loudness of sound:

A. Bar

B. Decibel
C. Farad

D. Kelvin

6. Land of white elephants:
A. Burma
B. India
C. Kenya
D. Thailand

7. The president of India is elected by the Electoral College consisting of elected

members of —
A. Lok Sabha only
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B. Lok Sabha & Rajya Sabha
C. Lok sabha,Rajya sabha and all state legislative Assemblies
D. None of these

8. Konark Sun Temple is situated in

A. Arunachal Pradesh
B. Andhra Pradesh
C. Orissa

D. Karnataka.

9. The major constituent of air is:

A. Nitrogen

B. Oxygen

C. Hydrogen

D. Carbon dioxide

10. Geetanjali has been written by:

A. Rabindranath Tagore
B. Jawaharlal Nehru
C. Mahadevi verma

D. Mahatma Gandhi

11.Rectangular plot has a length that is 3 times its width. If the perimeter of the
plot is 48 meters, what is its area?

A. 100
B. 105
C. 108
D. 110
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TEST 13.Answer:

1.C2.D3.C4.A5.B6.D7.C8.C9. A10. A 1l. C Sol: Perimeter = 2 x (Length
+ Width)
48=2x(3Xx+X)X=6
So, the width is 6 meters and the length is 3 x 6 = 18 meters.
Area = Length x Width
Area = 18 x 6 = 108 square meters
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TEST 14

1. Onam festival is celebrated in:
A. Andhra Pradesh
B. Tamil Nadu
C. Karnataka
D. Kerala

2. How many states are there in India?

A. 30
B. 28
C. 27
D. 29

3. Who is known as the Iron man of India?
A. Jawaharlal Nehru
B. Dr. Rajendra Prasad
C. Mahatma Gandhi
D. Sardar Vallavbhai Patel

4. Who is the founder of Google?
A. Larry Page & Sergey Brin
B. Mark Zuckerberg
C. David Filo & Jerry Yang
D. Bill Gates
5. First Indian woman who won the medal in Olympic?
A. P.T Usha
B. Karnam Malleshwari
C. Hima Das
D. Mithali Raj

6. Which of the following is the capital of Telangana?

A. Thiruanantpuram
B. Chennai

C. Bengaluru

D. Hyderabad

7. Who is the current Finance minister in India?

42

Np 0P Ie Np hp Ne hp N N I Rp I Np dp Np hp Xp Rp R Rp X Rp Xp Np 0 Rp Rp Xp Xp R Ne X NP de Np Rp Xp Rp R Re X NP de NP e Np Rp R Xp X Np X Rp e Np X Np X Np X 0e e Rp X
Do hp B Np hp N g N hp N hp B hp 0 Np dp N Rp R Rp R Rp hp N 0 N 0P N Rp R Re 2 N 2 N e R Rp R Rp b Rp 2 N 0 N hp R Rp 2 Rp hp N 0 Np b Np X 0p X hp X hp N

ARASASASAGASARABASARASADASASARADASARASADADRABARAGARABAGARABASASABASARARADADASADASARA A



PARAGASASASARADASASARADADADAGARADADASARADADADADAGADADADADADAGADADAGARADASADADASADADASDADAS A

A. Amit Shah

B. Rajnath Singh

C. Nirmala Sitharaman
D. P. Chidambram

8. White Revolution in India is concerned with the production of:

A. Milk
B. Cotton
C. Cloth

D. None of these

9. The Human Rights Day is observed on:

A. Oct 24
B. Dec 1l
C. Octl0
D. Dec 10

10. What is the highest peacetime gallantry award in India?
A. Ashok Chakra
B. Paramvir Chakra
C. Shourya chakra
D. None

11. The population of a town increases by 5% each year. If the current population
Is 10,000, what will be the population after 3 years?
A. 11576

B. 12000
C. 15000
D. 16000
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TEST 14 Answer:
1. D 2. B 3. D 4. A5. B hint: weightlifter, won bronze at Sydney 2000

6.D7.C8.B9.D10. A 11. A Sol: Population after n years = Initial population x (1 +
Growth rate)™n

Population after 3 years = 10,000 x (1 + 0.05)"3

Population after 3 years = 10,000 x 1.05"3

Population after 3 years = 11,576
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TEST 15

1. The National Anthem of India was composed by:
A. Bankimchandra Chattopadhya
B. Sarojini Naidu
C. Rabindranath Tagore
D. Mahatma Gandhi

2. Who established the first Women’s University of India?
A. Hirabai Tata
B. Ramabai Ranade
C. Annie Besant
D. D.K. Karve

3. During which Movement Gandhi had given the statement “Do or Die”?
A. Civil Disobedience
B. Quit India
C. Non-Cooperation
D. Khilafat

4. Name the India’s first feature Film?
A. Raja Harishchandra
B. Balika Badhu
C. Sati Parwati
D. Shakuntla

5. Which of the following year Bombay was bifurcated into Maharashtra and
Gujarat states?

A. 1950

B. 1960

C. 1955

D. 1970

6. Who is the first Indian women Pilot?
A. Sarla Thukral
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B. Meena Thukral
C. Sarojini Singh
D. Indira Gandhi

7. The Patriotic poem “Sarfaroshi ki tamanna ab hamare dil mein hai” was
written by who of the following?

A. Bhagat Singh

B. Batukeswar Dutt

C. Bismil Azimabadi

D. Mahatma Gandhi

8. Who is known as the 'Father of Indian Cinema'?
A. H. S. Bhalerao
B. Lumiere Brothers
C. Dhundiraj Govind Phalke
D. R. G. Torne

9. Which is the first Indian colour film?
A. Rang Birangi
B. Alam Ara
C. Navrang
D. Kisan Kanhya

10. What is the title of first Indian talkie?
A. Alam Ara
B. Raja Harishchandra
C. PundalikPundalik
D. Kisan Kanhya
11.The age of three persons are in the ratio 3:5:8. If the sum of their ages is 80
years, what is the age of the youngest person?
A. 15
B. 20
C.10
D. 25
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TEST 15 Answer:

1.C2.D3.B4.A5.B6.A7.C8.C9.D 10. A 11. A Sol: Let the ages of the three
persons be 3x, 5x, and 8x.

According to the given information:
3X+5x+8x =80

x=5, so the age of the youngest person=3x5=15
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